TIAFEEEERE

HEANEA

il

E

i 5

1 A4 H S

(1)

PNIUTE PN 4

g Bk

1 A 63 A [ {44
WG A FE~ 26 A
TR LSRR B
8 A56 A . {44
TGRS BUE~ 12N

FrEh B 200a]

AR - A S PRBE S B 12[8]

TURTYT A NI R L 1H
(2) TR - th RIS EIE CAMREE) i 1mE AT A2 KEI3H
2B 42N
(3)  FT IR RIGH I ZAEEAER 235 N [1E] 5H
9 QWEF%@?V?_@%E (1) =E=0F AN 158, 5511
B (2) KR— L ORIIERIA 45, 987 T-F1
(3) HEEEDOFIEHEIA 6, 316
(4) U n—pn= (FF - ) OFAEMEIA 6, 805
(5) ARG OREHEIA 7,673TH
(6) BEFLS ORI EHEIA 29, 750F-H
3 KBIIHIE L S DI | () 7o) DIRS EOT 0T 05 SEATC LRIE 25 A2 A2
SR AU T N e JEH 224
(2) FARFHE G E S EC 52 N|11E]
(3) WD A L Z NV AFEEHE Y X F— e B 52 A |1E
(4) WEHEWHE SEEE 11IA(1E
(5) BHGHE(AX LT v 7 &I —) A EC 31LA(1E
%)ﬁg%&ﬁiﬁm«@<ﬁﬁ@kw@v*~% S aEsIE~< 117 A Es A
() HAFD b FEHT = AF 4 0 o oHL |1
HREE 21045

(8)
(9)
(10)
(11)

(12)

(13)

(14)

(15)

(16)

IR ORI
FrFintrart—k
TF xS A hart—Fh
AP T2 AT ) REE

Sl AN

JERE I F—

AL S

kiﬁﬁ mENEEE O IF ANIS LD K
RS X TNV T — X —T2 EOHE
%%M

TIb - B S DEIDOTEEE) A& R S b

HEE R
ZINE K
ZINE

BB EE 124N
BEEE R HERT48 A

22\
6

155 A
AR Bl IE 37T A
% FE~ 296 A
AN 1A E148 A
olal FE~R131A

1\l 6H
12[a] (45 4 118])
1[A]

1[=]

1[A]

46l (A 1))

2l & [RI3H

4 EE L Z —FEREE

=S

JifB e 2 — PR g

5 AMBAFEZE

(1)
(2)

(3)

(4)
(5)

EMN]JOBRATF— g v HIEE KL
OSAKALZIE 74— /L RIZBITHE5H
EXPREL

ISR RIAM P — A HER &
TS U 7o B R R SR D Rk Sk
YA T LS E T

KB D XA 1 B et 5558

JJ:% O)ﬁ %/ﬁﬁ;ﬁ%L I_"ﬂU‘fx_uu HE&U}E&
- IR FEEG LG

TEH DN
@i L 7= ¥

D348 U 7RI 5 O N
30, 380 A

@HEICBIN L 7= Dtk
9,306 A

FE~ 24,8514t

1/2A—




T4 FEREEERE

HEANER

£ %

il

+ H

(i

(6)
(7)
(8)
9)
(10)
(11)
(12)
(13)
(14)
(15)
(16)

(17)

(18)

(19)

SR RE T SRR PE £ R (2 31T A Hitldo /s
3 - BRSO NSRS IRSEE)
HNENZDRNAHTHEROT T — X N HEE
W2 A - RS EGT

SR ] ARG B R E N IR T v b
T F— DA LT

M N SE AR SRR (PR A e
ST =wal i =3

KBFNEXT A 7 — A 32 3 24% B oKk
B FHETTERLOEEETRES

IBM SkillsBuild =i a5 BRIERS

IBM SkillsBuild 4E=H®RFEE

IBM SkillsBuild =Za##H&HER
(G FR44E10H ~)

WRKEFRFA L EZ— Sy THIE

REVE B AUE BT E 2 5 FEmAaE
KIRANER T TEEFEEM PR TN A R ZE
S
§%937N%7$¥rﬁﬁkﬁﬁﬁiﬁi
%

NPOZE A1 2 AR RE ARV TG B S P2 S 36 12 ) D 1
FAZ - WRIEF D= D~ =27 VAERL « HI
HIESE T

HES¥E GERJRIEHHES)

6 FEPTRAILG

(1)
(2)

ELESTENE S
AR A2

NN 5, 2855 2F

INNEZERT 4, 0195 2R

(2277)

(1977)

2/28 ="




